H & 0l & AHS B Ml A

SH 2
M T2EHIAY &=
=2l AEIHE & ESEH (EEEE))
SA - B BR(S) - HRAY - BAS o vy ol H o HImS2
C2u 42,692,825 41,068,291 1,624,534
= 2,170,000 2,170,000 0
< 2,859,100 2,742,100 117,000
Al 36,763,725 36,156, 191 607,534
£ 650,000 0 650,000
S 250,000 0 250,000
C2EHIMNG EE 23,506,782 21,988,582 1,518,200
= 2,170,000 2,170,000 0
< 1,659,100 1,542,100 117,000
Al 18,777,682 18,276,482 501,200
£ 650,000 0 650,000
x 250,000 0 250,000
ANZIHE & S E 9,045,900 8,512,900 533,000
= 2,170,000 2,170,000 0
[ 1,090, 100 1,090,100 0
Al 5,785,800 5,252,800 533,000
LHEH KHHATHOHRIEHE X EHIALY 4,840,000 4,340,000 500,000
= 2,170,000 2,170,000 0
= 1,085,000 1,085,000 0
Al 1,585,000 1,085,000 500,000
401 AIEHIL20HY] 4,840,000 4,340,000 500,000
= 2,170,000 2,170,000 0
< 1,085,000 1,085,000 0
Al 1,585,000 1,085,000 500,000
01 Al&HI 4,331,000 3,831,000 500,000
LHE KHATHOHRIEIHA X7 EUlAY 4,331,000 3,831,000 500,000
= 1,915,500 1,915,500 0
< 957,750 957,750 0
Al 1,457,750 957,750 500,000
UEe =He=z FHIAY 80,000 0 80,000
401 AIEHIZL 20HY 80,000 0 80,000
01 Al&HI 80,000 0 80,000
&g FHEZ FHIAY 80,000 0 80,000
WSAD AEEZ W 100,000 200,000 100,000
401 AIEBIZL20HY 100,000 200,000 100,000
01 Al&HI 100,000 200,000 100,000
WEMD AEEZ e 100,000 200,000 100,000
SHMEE S22 ASAILI 66,300 63,300 3,000
308 RIXIEME0IH 58,000 55,000 3,000
11 I 2S04 EAS AL S| 58,000 55,000 3,000
SHEMMEE S22 ASASHI(FY) 58,000 55,000 3,000
24 - 2eHE L sHEER JI1=( 300,000 300,000 0
2




2A:

S22

g C2IHIAE =5
SR AEHE SRS (Gt H2)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
207 A=K e| 300,000 300,000
01 2=l 300,000 300,000
2N AE E224 - 2A2/HE 2 SHE
E2 JI=(ZHDAHE ~HES 0 300,000 300,000
401 AlZHIZL S CHY] 300,000 0 300,000
01 AlZHI 300,000 0 300,000
2N AT 24 - 228 & SUHE
2 J12(Z8)AHE Sy 300,000 0 300,000
20243 ADE s8tdf S2 AAHE 8839 50,000 0 50,000
401 AlZHIL 2] 50,000 0 50,000
01 Al 50,000 0 50,000
20tE Sgdl S2 AlE 889 50,000 0 50,000
SOHE 2004 & SHEF 4,350,000 4,100,000 250,000
= 50,000 0 50,000
Al 4,300,000 4,100,000 200,000
HS204S (M) SHEER 22F 950,000 800,000 150,000
401 AlZHIL S CHY] 950,000 800,000 150,000
01 AlZHI 950,000 800,000 150,000
HS204S (SN ) SOHERR 22 Y 950,000 800,000 150,000
01&2065 (L) SHETZ SHEZI A 100,000 0 100,000
< 50,000 0 50,000
Al 50,000 0 50,000
401 AlZHIL 2 0HY] 100,000 0 100,000
< 50,000 0 50,000
Al 50,000 0 50,000
01 Al 100,000 0 100,000
0l&I206S () SOHESZ SHEYSAL 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
CRRA 24 & 22 9,329,882 8,674,682 655,200
LS 519,000 452,000 67,000
Al 7,910,882 8,222,682 311,800
= 650,000 0 650,000
e 250,000 0 250,000
C2RALES A 4,009,300 3,399,300 700,000
401 AlZHIL 2 0HY] 3,699,000 2,999,000 700,000
01 AlZHI 3,697,000 2,997,000 700,000
4= 22085 S AKX HHISA 30,000 0 30,000
NE1BS(ZERT) At SRSA 320,000 0 320,000
CASH(HLIZ) = STASA 200,000 0 200,000
NETS(UHEXT) 2 oi=7 150,000 0 150,000
Hollthsy =& 631,400 440,200 191,200
(O elal] 21,200 10,000 11,200




2A:
PSR
ool

S22t
SEIUIAY =5
T28% 24 2 22

SA-3Y . SRA(SAH) - MIRAY - Bd Off &4 I8N Hws2

04 JIZtN 22 XSE = 21,200 10,000 11,200
Aol LAIASE QIR Y

100,000 *2ZF 106! 21,200 10,000 11,200
201 2= 330,200 150,200 180,000
01 AFS2t2ltl 330,200 150,200 180,000
HAXZ(15EEZ, 241D]) Xz 270,000 90,000 180,000
AMUHEZ o1& HH| 1,456,000 1,391,000 65,000
401 Al HIZL S 0HYI 1,456,000 1,391,000 65,000
01 A&l 1,455,000 1,390,000 65,000
2165 (2) AT HH| AAILH 0 15,000 215,000
A22-207S (A AR Z=R) QIEHHIZ AL 80,000 0 80,000
CERRNES AL (EX)(HEALL) 890,000 980,000 290,000
S 445,000 400,000 45,000
Al 445,000 580,000 135,000
401 AIEHIZL 2 OHYI 890,000 980,000 290,000
s 445,000 400,000 45,000
Al 445,000 580,000 135,000
01 A<l 890,000 980,000 290,000
HELEMZ SIMUAZEXI(EX) 350,000 500,000 150,000
= 175,000 160,000 15,000
Al 175,000 340,000 165,000
HE28E 2alatd I SA 60,000 0 60,000
S 30,000 0 30,000
Al 30,000 0 30,000
C2H =8 HI= AEH2E 2Y 38,382 33,382 5,000
101 e124d| 38,382 33,382 5,000
04 JRHNZ2Z2XSE+ 38,382 33,382 5,000
C2H =Y Hil= ¢dXllE 2 38,382 33,382 5,000
wxt= s 190,000 1,550,000 /1,360,000
401 Al HIZL S 0HYI 190,000 1,550,000 1,360,000
01 Al&H| 190,000 1,550,000 /1,360,000
HEYEINZ 28 WIZ EXISAt 50,000 1,490,000 1,440,000
WXZ NS (ZEAAZ 1) AAIEH 80,000 0 80,000
AE*SHEHﬂ—’_F—&(_._tjl_t.‘_?F_) 96,000 52,000 44,000
=S 74,000 52,000 22,000
Al 22,000 0 22,000
405 KHAHE SH] 96,000 52,000 44,000
== 74,000 52,000 22,000
Al 22,000 0 22,000
01 TR ESF SHI 96,000 52,000 44,000
H2tx=SZ UHSS=SAIEX £X 44,000 0 44,000
= 22,000 0 22,000




2A: S22
M T2EHIAY BF

el E2ERA 24 & 22 EER=E)
SA - FE - SRA(3H) - MRAE - BES Ofl &kt I 3N HwE2

| Al 22,000 0 22,000

SHHZEIR] 21 & 222,000 200,000 22,000

401 AIEHIL S THYI 222,000 200,000 22,000

01 Al&t] 222,000 200,000 22,000

SHHZEI2] 21U &K 222,000 200,000 22,000

20t a2 X2 28,000 0 28,000

305 HHA2S 28,000 0 28,000

01 Hia3S 28,000 0 28,000

20t Hiaz X2 28,000 0 28,000

82 NEAE2 MDA HEINS (SLAI) 300,000 0 300,000

Al 150,000 0 150,000

S 150,000 0 150,000

401 AIZHIZL S THY 300,000 0 300,000

Al 150,000 0 150,000

S 150,000 0 150,000

01 Al&t] 300,000 0 300,000

HE2 NEAE2 ADYEXS RIS

A 300,000 0 300,000

Al 150,000 0 150,000

= 150,000 0 150,000

SHHS BRI DR HXI(SX) 250,000 0 250,000

= 250,000 0 250,000

401 AIZHIZL S THY 250,000 0 250,000

E 250,000 0 250,000

01 Al&H] 250,000 0 250,000

LS BIFDAZ HX 250,000 0 250,000

= 250,000 0 250,000

2 Y LD WRZHA C2EXE X(SuA) 500,000 0 500,000

= 500,000 0 500,000

401 AIZHIZL S THYI 500,000 0 500,000

S 500,000 0 500,000

01 Al&t] 500,000 0 500,000

B2 LED IR XA T2EIT 81 500,000 0 500,000

= 500,000 0 500,000

ADRIBER oY Fb 635,000 565,000 80,000

WYY OHNMAICH 635,000 565,000 80,000

401 AIZHIZL S THY 635,000 565,000 80,000

01 Al&H] 635,000 565,000 80,000

HEESEIIES 80,000 0 80,000

SAIHY 17,066,851 16,991,517 75,334

SAHE 2 17,066,851 16,991,517 75,334

HHS~-ZHS2 S2JIHESAHAISHI) 2,455,000 2,705,000 250,000




2A E23
T SADHE
SRl TAIAEEZ2OHE EER=E)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
401 AIEHIZL 20| 2,455,000 2,705,000 250,000
01 Al&€HI 2,450,000 2,700,000 250,000
HEsS-=ES2U T2HLESA 2,450,000 2,700,000 250,000
HES~-=3s2 T2HE 2 22 SEZcEA 660,000 410,000 250,000
401 AIEHIL 20| 660,000 410,000 250,000
02 Zell 660,000 410,000 250,000
sgzeledy 660,000 410,000 250,000
ZOHIESAHE AAUT2 TAIHEAE 2F(BE) 50,000 0 50,000
29
401 AIEHIZL 20| 50,000 0 50,000
01 Al&ZHI 50,000 0 50,000
lExAISS 50,000 0 50,000
NHS2~UE D2 SAIHECZ ACFHHSA 19,334 50,000 A30,666
401 AIEHIZL 20| 19,334 50,000 A30,666
01 Al&ZHI 19,334 50,000 30,666
NI E2~HE D2 TAIHECRZ A CFY|
SAt 19,334 50,000 30,666
Sd W7 (S26)AH==2 FHI 50,000 0 50,000
401 AlEHIZL 20| 50,000 0 50,000
01 Al&HI 50,000 0 50,000
SANEHES 50,000 0 50,000
SHUZECIZ TAHEER RHFSRC 6,000 0 6,000
401 AIEHIZL 20| 6,000 0 6,000
01 Al&€HI 6,000 0 6,000
FHREXC 89 6,000 0 6,000
Y =2S 3 105,530 74,530 31,000
Jl23H 105,530 74,530 31,000
Jl=&Hl 105,530 74,530 31,000
201 B2l 77,000 52,000 25,000
01 AFR2telHl 56,000 31,000 25,000
22| 31,000 26,000 5,000
JHEY == 9,000 0 9,000
I 222 11,000 0 11,000
202 Ot 20,000 14,000 6,000
01 2LHO L] 20,000 14,000 6,000
28 gexd 20,000 14,000 6,000




